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TEST XXVI – PREMODEL I 

GENERAL SCIENCE, GEOGRAPHY OF INDIA, APTITUDE AND MENTAL ABILITY 
 

1 2 3 4 5 6 7 8 9 10 
C B C C C B B A D C 

11 12 13 14 15 16 17 18 19 20 
D D D B B D A D D D 

21 22 23 24 25 26 27 28 29 30 
C A B A D C A A B B 

31 32 33 34 35 36 37 38 39 40 
D A C D C B C C D A 

41 42 43 44 45 46 47 48 49 50 
A C B D D B A A B D 

51 52 53 54 55 56 57 58 59 60 
B B B D B B A C A A 

61 62 63 64 65 66 67 68 69 70 
B D C C C C B B D B 

71 72 73 74 75 76 77 78 79 80 
A C C D B D A D D D 

81 82 83 84 85 86 87 88 89 90 
D A B A B B C A A C 

91 92 93 94 95 96 97 98 99 100 
D B B A D A D B D D 

101 102 103 104 105 106 107 108 109 110 
C C A B A C D D B B 

111 112 113 114 115 116 117 118 119 120 
A B C B D A A A A C 

121 122 123 124 125 126 127 128 129 130 
C C C D D A D D D B 

131 132 133 134 135 136 137 138 139 140 
B A C C B B D B B D 

141 142 143 144 145 146 147 148 149 150 
D B D A C B A A A D 
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126. Sohan can do a piece of work in 16 days and Rohan in 24 days. They take the help of Mohan 

and three together finish the work in 6 days. If total remuneration for the work is Rs.80/- 
then amount each will receive in proposition to the work done by each is 
a. Rs.30, Rs.20 and Rs.30  b. Rs.30, Rs.30 and Rs.20 
c. Rs.40, Rs.20, and Rs.20  d. Rs.20, Rs.30, and Rs.30 
Nrh`d; vd;gth; xU Ntiyia 16 ehl;fspYk; mNj Ntiyia Nuh`d; 24 ehl;fspYk; 
Kbf;fpd;wdh;. ,g;nghOJ ,t;tpUtUld; NkhfDk; Nrh;e;J ,Nj Ntiyia Kbf;f 6 ehl;fs; 
MfpwJ. ,e;j nkhj;j Ntiyapd; $yp &.80 vdpy; xt;nthUtUk; ngw;w njhif vt;tsT? 
a. Rs.30, Rs.20 and Rs.30  b. Rs.30, Rs.30 and Rs.20 
c. Rs.40, Rs.20, and Rs.20  d. Rs.20, Rs.30, and Rs.30 
 
SOLUTION 
 
LCM of 16, 24, 6 = 48 

Total units = 48 

Efficiency of sohan = 
48

16
= 3 units  

Efficiency of Rohan = 
48

24
 = 2 units  

Efficiency of Shoan + Rohan + Mohan = 
48

6
 = 8 units  

Efficiency of Mohan = 3 units  
    Sohan  : Rohan  : Mohan  
Efficiency ratio =     3  :    2   :     3  
 Efficiency is proportional to wages  
  3 + 2 + 3 = 8 part = 80 Rs  
   3 part  = 30 Rs  
 Each Wages,  
  Sohan = 30 Rs 
  Rohan = 20 Rs 
  Mohan = 30 Rs  
 

127. Sneha’s age is 
1

6
th of her father’s age. Sneha’s father’s age will be twice of Vimal’s age after 

10 years. If Vimal’s eighth birthday was celebrated two years before, then what is Sneha’s 
present age? 

a. 
2

6
3

 years   b. 24 years  c. 30 years  d. 5 years 

rpNdfhtpd; taJ mtuJ je;ijapd; tajpy; 
1

6
 klq;fhFk;. rpNdfhtpDila je;ijapd; 

tajhdJ gj;J tUlq;fSf;F gpwF tpky; taijg;Nghy ,uz;L klq;F tajhFk;. tpkypd; 
taJ ,uz;L Mz;LfSf;F Kd;G 8 taJ vdpy;> rpNdfhtpd; jw;Nghija taJ vd;d? 

a. 
2

6
3

 Mz;Lfs;  b. 24 Mz;Lfs; c. 30 Mz;Lfs;  d. 5 Mz;Lfs; 
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SOLUTION 
 
Vimal's age after 10 years = (8 + 2+ 10) years = 20 years  

Sneha's Fater's age after 10 years = 40 years  
Sneha's Father's present age = 30 years  

Sneha's age = 
1

6
  30 = 5 years 

 
128. Two taps A and B can fill a tank in 10 hours and 15 hours respectively.  Both the taps are 

opened for 4 hours and then B is turned off.  The time taken by A to fill the remaining tank is   
a. 12/5 hours  b. 13/10 hours c. 6 hours  d. 10/3 hours 
A> B vd;w ,uz;L Foha;fs; xU njhl;bapid KiwNa 10 kw;Wk; 15 kzpNeuj;jpy; epug;g 
,aYk;. ,uz;L Foha;fSk; 4 kzp Neuk; jpwe;J tplg;gl;L gpwF Foha; B milf;fg;gLfpwJ. 
njhl;bapd; vQ;rpa gFjpia epug;g Foha; A vLj;Jf; nfhs;Sk; NeukhdJ 
a. 12/5 hours  b. 13/10 hours c. 6 hours  d. 10/3 hours 

 
 SOLUTION 
 

LCM of 10, 15 = 30; Total = 30 units. 

Tap A = 
30

10
 = 3 units  

Tap B = 
30

15
 = 2 units  

A + B = 5 units; Both are opened together, after 4 hours; 4 ×5 = 20 units filed.  
'B' closed;  
Remaining = 10 units; is filled by only A  

  =
10

3
 hours 

Time taken by A to fill the remaining tank is 
10

3
 hours.  

 
129. The number of lead shots each 3 mm in diameter that can be made from a cuboid of 

dimension 9cm x 11cm x 12cm is  
a. 7200  b. 8400   c. 72000  d. 84000  
9 nrkP x 11 nrkP x 12 nrkP gf;fq;fisf; nfhz;l xU fd nrt;tfj;jpypUe;J 3 kpkP tpl;lk; 
nfhz;l vj;jid <a Fz;Lfis cUthf;f KbAk;? 
a. 7200  b. 8400   c. 72000  d. 84000  

 
 SOLUTION 
 

n = 
volumeof thecuboid

Volumeof the sphere
 

 = 
34

3

l b h

R

 
        D = 3 mm = 

3

10
cm; 
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 = 
9 11 12

4 22

3


2

3

7


20 10

3


3

20


20

     r = 
3

20
cm; 

 10 × 20 × 20 × 21  = 84000 
 

130. The smallest number when decreased by 11, is exactly divisible by 20, 28, 35, 105 is   
a. 341   b. 431  c. 541   d. 531 
xU Fwpg;gpl;l kpfr; rpwpa vz;zpy; ,Ue;J 11I fopj;j gpwF me;j vz; 20> 28> 35> 105 Mfpa 
vz;fshy; kpfr; rhpahf tFgLfpwJ vdpy;> me;j vz; vJ? 
a. 341   b. 431  c. 541   d. 531 

 
 SOLUTION 
 

The LCM of 20, 28, 35, 105 = 420  

 = 420 + 11 = 431 
 
131. A boy had 85 currecny notes of Rs. 100 denomination and Rs. 50 denomination totalling Rs. 

5000 in all.  What was the amount of Rs.50 denominations he had?  
a. Rs. 2250  b. Rs. 3500  c. Rs. 1500   d. Rs. 1250 
xU rpWtdplk; &.100 kw;Wk; &.50 kjpg;Gs;s Nehl;Lfs; 85 cs;sd. mtw;wpd; nkhj;j kjpg;G 
5000 vdpy; mtdplKs;s &.50 Nehl;Lfspd; njhif vt;tsT?   
a. Rs. 2250  b. Rs. 3500  c. Rs. 1500   d. Rs. 1250 

 
 SOLUTION 
 

'x' denotes 100 Rupee notes  

y denotes 50 Rupee notes  
 x + y = 85      (1) 

 100x 50 5000y+ =      (2) 
eqn (1) becomes  

 100 100x  100 8500y+ =  

    (-)      (-)      (-) 

  -  50y = - 3500  

  50y = 3500  
 
132. If 4÷3 = 6427, 8÷7 = 6449, 3÷1 = 271 then 6÷3 = ?  

a. 369   b. 2169  c. 21627  d. 2 
4÷3 = 6427, 8÷7 = 6449, 3÷1 = 271 vdpy; 6÷3 = ? 
a. 369   b. 2169  c. 21627  d. 2 

 
 SOLUTION 
 4 ÷ 3 = 6427 

43 = 64;   33 = 27;  6427 
Similarly  
  33 ÷ 13 = 271  
 82 ÷ 72 = 6449 
similarly 62 ÷ 32 = 369  
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133. The radius of a wheel is 1.75 m. How many revolutions will it make in travelling 11 km?  
a. 10     b. 100   c. 1000   d. 10000 
1.75 kP Muk; nfhz;l xU rf;fuk; 11 fp.kP J}uj;ij flf;f vj;jid Rw;Wfs; Rw;w Ntz;Lk;? 
a. 10     b. 100   c. 1000   d. 10000 

  
SOLUTION 
 
Circumference of a wheel = 2 r  

1 Revolution = 2 × 
22

7
× 1.75  

   = 11 m  
1 Revolution → 11 m  
 ?     → 11 × 103m  

  
311 10

11


= 1000 times 

 
 
134. A sum of ì 5000 amounts to ì 6050 after 2 years at compound interest, interest compounded 

annually.  What is the rate of interest p. a? 
a. 5%   b. 9%  c. 10%  d. 11% 
&.5000 vd;w njhifahdJ> $l;Ltl;bapy; 2 Mz;Lfspy; &.6050 Mf khWfpwJ vdpy; Mz;L 
tl;btPjk; vt;tsT?  
a. 5%   b. 9%  c. 10%  d. 11% 
 
SOLUTION 
 

1
100

605 0

n
r

A P
 

= + 
 

500 0=

2

1
100

605 500

r 
+ 

 

=
( )100 (100 )

1 00

R R+  +

100

20

 

12100 = 10000 + r2 + 200r 
 

r = 10 

 
135. What is the GCD of 6 (2x2 – 3x – 2), 8(4x2 + 4x +1) and 12 (2x2 +7x +3) ?  

a. 4(x+3)  b. 2(2x+1)  c. 8(2x+3)  d. 8(x+3) 
6 (2x2 – 3x – 2), 8(4x2 + 4x +1) kw;Wk; 12 (2x2 +7x +3) Mfpatw;wpd; kP.ngh.t vd;;d? 
a. 4(x+3)  b. 2(2x+1)  c. 8(2x+3)  d. 8(x+3) 

 
 SOLUTION 

6 (2x2 – 3x-2)    =  6 (2x + 1) (2x - 4) 
8 (4x + 2) (4x + 2)  = 32 (2x + 1) (2x + 1) 
12 (2x2 + 7x + 3)  = 12 (2x + 1) (2x +7) ) 
 

HCF = 2(2x+1) 
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136. 4.59 1.8 3.6 5.4
 

  + 
 

1 1
y;  ghfk; - 

9 5
 d; kjpg;G 

 4.59 1.8 3.6 5.4of
 

  + 
 

1 1
  - 
9 5

 is 

 a. 4.685  b. 2.695  c. 3.259  d. 2.596 
 
 SOLUTION 
 

4.59 
1.8

3.6
 + 0.6 – 0.2 

= 2.295 + 0.6 – 0.2       

= 2.695 

 
137. The number 311311311311311311311 is :                                              

a. divisible by 3 but not by 11    b. divisible by 11 but not by 3 
c. divisible by both 3 and 11       d. neither divisible by 3 nor by 11 
311311311311311311311 vd;w vz; 
a. 3My; tFgLk; Mdhy; 11My; tFglhJ b. 11My; tFgLk; Mdhy; 3My; tFglhJ 
c. 3 kw;Wk; 11My; tFgLk;    d. 3 kw;Wk; 11My; tFglhJ 

 
SOLUTION 
 
Sum of digits = 35 and so it is not divisible by 3. 
(Sum of digits at odd places) = Sum of digits at even places 
 19 = 16 
So not divisible by 11.  
So, the given number is neither divided by 3 nor by 11. 

 
138. A copper wire is bent in the shape of a square of area 81 cm2.  If the same wire is bent in the 

form of a semicircle, the radius (in cm) of the semicircle is 
a. 14 cm  b. 7 cm  c. 21 cm  d. 28 cm 
xU nrg;Gf; fk;gp 81 r.nrkP-I gug;gsthff; nfhz;l xU rJu tbtj;jpy; tisf;fg;gLfpwJ.  
me;jf; fk;gp xU miu tl;l tbtj;jpy; tisf;fg;gLtjhf ,Ue;jhy;> me;j miu tl;lj;jpd; 
Muk; vj;jid nrkP? 
a. 14 cm  b. 7 cm  c. 21 cm  d. 28 cm 

 
 SOLUTION  

Square area = a2 
a2 = 81 

a = 9 

Perimeter of a Square = Perimeter of a Semicircle. 
4a = r +2r 

 = r( 2+ ) 

4   a = 
22

2
7

r
 

+ 
 

 

4 9 ( 36
7

r
= )  

r = 7 
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139. An organisation plans to plant saplings in 25 streets in a town in such a way that one sapling 
for the first street, two for the second, four for the third, eight for the fourth street and so on. 
How many saplings are needed to complete the work? 

a. 242     b. 252 1−    c. 252   d. 242 1−  
xU njhz;L epWtdk; xU efuj;jpYs;s 25 tPjpfspy; kuf;fd;Wfis eLk;nghUl;L> Kjy; 
tPjpapy; xU kuf;fd;Wk;> ,uz;lhk; tPjpapy; ,U kuf;fd;Wfs;> %d;whk; tPjpapy; 4 kuf;fd;Wfs;> 
ehd;fhtJ tPjpapy; 8 kuf;fd;Wfs; vd;w Kiwapy; eLtjw;F jpl;lkpLfpwJ. mt;Ntiyia 
Kbf;fj; Njitahd kuf;fd;Wfspd; vz;zpf;ifiaf; fhz;f 

a. 242     b. 252 1−    c. 252   d. 242 1−  
 

SOLUTION 
 
1, 2, 4, 8, …… 

In the form of G.P (Geometric Progression) 25 streets,  

 a = 1;  r = = =2

1

2
2

1

t

t
 

 Sn = a
1

1

nr

r

 −
 

− 
; r>1 

 S25 = 1
252 1

2 1

 −
 

− 
 

   
 
 

140. If A : B = 2 : 5, B : C = 4 : 7 and C : D = 3 : 8, then find out the ratio A : B : C : D? 
 a.   24 : 100 : 15 : 200                       b.   60 : 24 : 105 : 280 
 c.  280 : 105 : 24 : 60                        d.   24 : 60 : 105 : 280 

A : B = 2 : 5, B : C = 4 : 7 kw;Wk; C : D = 3 : 8, vdpy; A : B : C : D d; tpfpjk; fhz;f. 
 a.   24 : 100 : 15 : 200                       b.   60 : 24 : 105 : 280 
 c.  280 : 105 : 24 : 60                        d.   24 : 60 : 105 : 280 
 
 SOLUTION 
 

A:B = 2:5; B:C = 4:7; C:D = 3:8 
A = 243 = 24 
B = 435 = 60 
C = 357 = 105 
D = 578 = 280 
 

 
 
141. Hira Lal invested Rs. 500 for 4 years and Rs. 600 for 3 years at simple interest. If the total 

interest on both is Rs. 190, what is the rate of interest percent annum? 
a. 10%  b. 2%  c. 7%  d. 5% 
`Puh yhy;; &.500 I 4 Mz;LfSf;Fk;> &.600I 3 Mz;LfSf;Fk; rhjhuz tl;bapy; KjyPL 
nra;Js;shh;. ,t;tpuz;L KjyPLfspd; nkhj;j tl;b &.190 vdpy;> tl;b tPjk; Mz;Lf;F 
vt;tsT?  
a. 10%  b. 2%  c. 7%  d. 5% 
 

n = 25 

252 1= −  

24 : 60 : 105 : 280 



 

8 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 

 

SOLUTION 
 

SI = 
100

pnr
 

1 2

4 600 3
500 ;

100 100

R
SI R SI

 
=   =  

SI1 + SI2 

5 00 4

1 00

R  6 00
+

3

1 00

R 
190=  

20R + 18R = 190 
  38R = 190 

  
 

  
142. The difference between compound interest and simple interest on an amount of Rs.15,000 for 

2 years is Rs.96, then the rate of interest per annum is 
a. 12   b. 8   c. 6  d. 10 
&.15>000-f;F 2 tUlq;fSf;Ffpilf;Fk; $l;Ltl;bf;Fk;>jdptl;bf;Fk; cs;sNtWghL&.96 vdpy; 
tl;btPjk; Mz;Lf;F 
a. 12   b. 8   c. 6  d. 10 
 
SOLUTION 

Difference = 

2

2

Pr

100
 

 
R2 = 64 
 
 

143. If selling price of an article is 
8

5
times its cost price, the profit percent on it is: 

a. 120%  b. 160%  c. 40%  d. 60% 

xU nghUspd; tpw;gid tpiy> mjDila mlf;f tpiyiag; Nghy 
8

5  
klq;F vdpy;> me;j 

tpw;gid kPjhd ,yhg tpOf;fhL vt;tsT?  
a. 120%  b. 160%  c. 40%  d. 60% 
 
SOLUTION 

S.p = 
8

5
 C.p 

S.p = 8; C.p = 5 
Profit = 3 

Profit % = 
3

5
  100 

R = 5% 

R = 8% 

= 60% 
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144. If a sphere just fits in a right circular cylinder, then the ratio of the volume of the sphere to 
the volume of the cylinder is ______ 
a. 2:3  b. 2:4  c. 2:6  d. 2:8 
xU Nfhsk; xU Neh; tl;l cUisf;Fs; rhpahfg; nghUe;JfpwJ> vdpy;> me;j Nfhsj;jpd; fd 
msTf;Fk; me;j cUisapd; fd msTf;Fk; ,ilapyhd tpfpjk; ______. 
a. 2:3  b. 2:4  c. 2:6  d. 2:8 

 
 SOLUTION 
 

Volume of the Sphere : Volume of the Cylinder 

 
4

3
 3 :R  2R H  

  
 

 
145. Raju purchased a Maruti Car 3 years ago for Rs.2 lakh. Its value depreciated each year at the 

rate of 25% p.a. What is the present value of the car?    
a. Rs. 83,475/-  b. Rs. 2,83,475/-   c. Rs. 84,375/-  d. Rs. 87,435/- 
uh[_> xU khUjp tz;bapid> 3 Mz;LfSf;F Kd;dhy; & 2 yl;rk; kjpg;gpw;F thq;fpdhh;. 
mjd; kjpg;G Mz;Lf;F 25% tPo;r;rpaile;jJ vdpy;> me;j khUjp tz;bapd; jw;Nghija 
kjpg;G vd;d? 
a. Rs. 83,475/-  b. Rs. 2,83,475/-   c. Rs. 84,375/-  d. Rs. 87,435/- 

 
 SOLUTION 

= p 1
100

n
r 

− 
 

       

n = 3;  p = 2,00,000 

   
 = 75   75  15 

  
 

 
146. If x is 80% of y, then what percent of 2x is y?  

a. 40%  b. 62½%  c. 66¾%  d. 80%  
x vd;gJ y-y; 80% vdpy; 2x – d; vj;jid rjtPjk; y MFk;  
a. 40%  b. 62½%  c. 66¾%  d. 80%  

 
  
 

H = 2R 

2 : 3 

= 84375 
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SOLUTION 

x = 80% of  x = 
4

5
y 

y = 
5

4

x
      

then, 
what percent of 2x is y. 
100 y 

? 2x    

  
 
 

 
147. The mean mark of 75 students was found to be 35. Later on, it was found that as score of 32 

was misread as 23. Find the  correct mean corresponding to the correct score. 
 a. 35.12  b. 35.21  c. 35.23  d. 35.32 
 75 khzth;fspd; kjpg;ngz;fspd; ruhrhp 35 vd;W fzf;fplg;gl;lJ. gpd;G 32 vd;w kjpg;ngz; 

23 vd;W jtWjyhf vLf;fg;gl;lJ njhpa te;jJ. rhpahd kjpg;ngz;fisf; nfhz;L rhpahd 
ruhrhpiaf; fhz;f.  

 a. 35.12  b. 35.21  c. 35.23  d. 35.32 
 
 SOLUTION 
 

.

32 23 9
0.12

75 75

Original Wrong
mean

No of Students

mean

−
=

−
= = =

 

Correct mean = 35 + 0.12 
 
 

 

148. If   is defined as x y = x2 + 2y, find the value of P if 4 (3 p) = 50 
a. 4   b. 7   c. 8   d. 12.5 
 vd;w nraypahdJ x y = x2 + 2y vd tiuaiwf;fg;gl;L> 4 (3 p) = 50 vdf; 
nfhLf;fg;gl;lhy;> P –d; kjpg;G fhz;f. 
a. 4   b. 7   c. 8   d. 12.5 

 
  
  

= 62 ½ % 

= 35.12 
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SOLUTION 
 

2

2

2

2

4 (3 ) 50;

3 (3) 2 9 2

4 (3 ) 4 (9 2 ) (4) 2(9 2 )

16 18 4

34 4 50; 4 16

x y x y

p

p p p

p p p

p

p p

 = +

  =

 = + = +

  =  + = + +

= + +

 + = =

 

 
 

 
149. If HEATER is written as KBDQHO, how you encode COOLER 

a. FLRIHO   b. FHOIRL   c. LRHIOF   d. FRHLIO 
HEATER vd;gij KBDQHO vd vOJk;NghJ COOLER vd;gjd; Fwpahf;fk; ahJ? 
a. FLRIHO   b. FHOIRL   c. LRHIOF   d. FRHLIO 

 
 SOLUTION 

8 5 1 20 5 18 
 H E A T E R 

       
+3 -3 +3 -3 +3 -3 
 
K B D Q H O 
11 2 4 17 8 15 
    3 15 15 12 5 18 
Similarly,    C O O L E R as 

            
      +3 -3 +3 -3 +3 -3 
      F L R I H O 
      6 12 18 9 8 15 
 

150. Find out the wrong number 
5, 11, 23, 47, 90, 191, 383 
a. 11  b. 47   c. 191  d. 90 
jtwhd vz; vJ? 
5, 11, 23, 47, 90, 191, 383 
a. 11  b. 47   c. 191  d. 90 
 
SOLUTION 

 
5 × 2 + 1 = 11 
11 × 2 + 1 = 23 
23 × 2 + 1 = 47 

 
95 tu Ntz;ba ,lj;jpy; 90 te;Js;sJ. MfNt jtwhd vz;  

p = 4 

90. 


